Time allowed ; 3 hours

' '\‘; Full marks : 200
/ Answer all the questions.
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INSTRUCTIONS
Candidates should read the following instructions carefully before answering the que:

1. This booklet consists of 24 pages including this front page. Verify the Page Nos. and
series on each page and bring at once to the Invigilator’s notice any discrepancy.

2 Answers will have to be given in the Special Answer-Sheets supplied for the

3. Before you proceed to mark in the Answer-Sheet in response to various mmm '
you have to fill in some particulars in the Answer-Sheet as per instructions
Admit Card. Do not fold the Answer-Sheet as this will result in error in

4. All questions are of multiple-choice answer-type. You will ﬁnd four |
(A), (B). (C) and (D) against each question. Find out which of the four
to be correct or the best. Now darken the circle cunmpnnﬂmgtutha
in the Answer-Sheet with Black Ball Point Pen as per instructions

Admit Card and in the Answer-Sheet.
5. One and only one circle is to be fully blackened for answer. A




(A) The Prime Minister of India

(B) The Speaker of the Lok Sabha

,ng' The Chief Justice of the Supreme Court
of India

(D) The Attorney General of India

2. Which is the longest written constitution in
the world?

{A) The Constitution of the United States
N __,E»B'jr The Constitution of India

p (C) The Constitution of the Fifth Republic
of France

2 (D) The Constitution of Switzerland

@mmm 1657
ctary General ofthe Stae

3. Whao is the highest law officer in the States

v

for five ysars

‘_,(rﬁf He must be a citizen of
In the opinion of the
distinguished jurist.
Has been a Judge of a High

4 at least five years..., or
Has been an advocate of
(or two or more such
succession) for at least ten
(C) He must be a citizen of India.
Has been a Judge of the Higl
w len years . .
Has been an ad‘mcﬂt&ﬁf
Court.

(D) He must be a citizen of India. |

distinguished jurist.
He must be a sitting




(B) ’-I'hﬁﬂnﬁﬂushmufthﬂ-hghﬂwﬂﬂf
‘the State

(C) The President of India

(D)} The Chief Minister of the State

7. When was the Indian Constitution first
adopted?

(A) The Constituent Assembly adopted
the Constitution of India on 26th
January, 1950, :,,

(B) The Constituent Assembly adopted
the Constitution of India on 26th
January, 1949, 5%

) The Constitutionof India was adopted

by the Constituent Assembly on 26th
Movember, 1949,

(D) The Constitution of India was adopted
on 26th November, 1948, ”

v

8. A judge of a High Court can be removed
from office during his tenure by

(A) the Governor, if the state legislature

passes a resolution to this effect by

\/ 2/3 rd majority. X

) the President, on the basis of a
resolution passed by the Parliament
by two-thirds majority in each House
of Parliament.

(C) the Chief Justice of the Supreme Court
on the recommendation of the
Parliament.

(D) the Chief Justice of the High Court on
the recommendation of the State

J ml 1988 _
(© 1989
(D) 1990

2003 established :

(A) RighttoEdi Cé
Righttoall the ch
in India. p
\}Bf The “National Com
Scheduled Castes™ and
v (C) Reservation of seats for

local bodies. X
(D) Three language policy. .

12. To ensure free and fair electio
Constitution of India establishes an
Commission. The members of the
Commission in the Centre are appointed by v

(A7 President of India |

. (B) Prime Minister of India

(C) Chief Justice of India
(D) Vice-President of India

Art 168 deals with ﬂlﬁ‘
amending bills. :

(A) ABillto amend




: Gﬁuﬂ of India tenders legal
t of India when :
{A} the Cabinet recommends it

B) limcﬂmmﬂ of Ministers recommends

\(,cf the President asks for it
(D) the Supreme Court wants to tender the
advice

v

15. Which among the following is the final
authority to interpret the Constitution of India?
{A) The President
/  (B) The Council of Ministers

._CE")'. The Supreme Court
(D) The Parliament

16. Which Article in the Indian Constitution
provides for protection against arbitrary arrest and
detention”

JAT Article 22

v/ (B) Article 23

(C) Article 24

." (D) Article 25

17. Whois the Chairman of the Rajya Sabha or
Council of 5
The Vice-President of India is the ex-

f officio Chairman of the Rajya Sabha.

4 (B) The leader of the majority party in the
Rajya Sabha. X

{C) The leader of the opposition party in
the Rajya Sabha. %

(D) The person clected from among the
elected members of the Rajya Sabha
by a simple majority of members
present and voting. )l

(B)

(C)

as President unless —

{a) He is a citizen of India. -

{b) He has completed the aﬁ
thirty five. '

(c) Heisamemberofthe Rajy

No person shall be eligible fmﬂlwﬁﬁ

as President unless —

(a) He is a citizen of India.

(b) He has completed the age
thirty years. '

(c) Heis a member of the Lol

No person shall be eligible for

as President unless —

(a) He is a citizen of India.

(b) He has completed 'ﬂﬁ ;%

forty years.



(D) Article 113

22. Choose the correct statement stated in the
Constitution of India :
{A) India, that is Bharat,
Federation of States.
BT India, that is Bharat, shall be a Union
of States,
(C) India, that is Bharat, shall be a Quasi
federal State.
(D) India, thatis Bharat, shall be a Unitary

shall be a

“

23. Name the Constitutional Amendment Act
that was passed to provide free and compulsory
education of all children between 6 and 14 years of

age.

A

.&Kf 86th Amendment Act.
(B) 84th Amendment Act.
(C) 83rd Amendment Act.
(D) $2nd Amendment Act.

26, Underthe Indian Constit
to be a member of a house
becoming aminister. In what w2
become a member of the house?

{A) By nomination

(B) By election
a J{-CT’EHIwr by election mmnihmﬁﬁﬁ
(D) None of the above

27. Which of the following Articles

right to religious freedom enshrined in th 1.'-"."-‘
Constitution of India? .
(A) Art32-35 A
o -
(27 Art25 - 28 .=
(D) Arnt23-24

28. Who may by law provide for th
of the Legislative Council in a State
Indian Constitution?

Parliament may b;r law a
Lﬁgis]amecamoﬂm




e

; .,,,{E} Amﬂ!: 343
(D) Article 344 X

Sanskrit is the 2nd official language of
which state in India?
{A) Karnataka
\/ (B) Madhya Pradesh
VQCS’ Uttarakhand
(D) Himachal Pradesh

31. If a High Court judgement is issued in a
state’s official language a translation in which
language must also be made available?

7 (A) Hindi
{B) Both Hindi and English
(C) Translation not required

JB? English

32. Which part of the Constitution of India
describes citizenship at the commencement of the
Constitution?

(A) Partl
/ ‘_,(H}? Part 11

(C) Part 111

aa(Pm v

33. The Head of the Executive in all States is
the Governor of the State. How is he appointed?

(A) The Governor iselected by the people
of the State on the basis of adult

Tribes.

35. How many seatsmresawedfmwﬂmﬁnw v
all levels in the Panchayati Raj System in India?
(A) 1/2 of seats of Pancha}*ah Rﬁj“
institutions. ]
/3 of seats of Panchayati Raj and .
1/31d offices of Chairperson at all
levels of Panchayati Raj institutions.
"/ﬂ (C) 1/4 of offices of Chairperson of
Panchayati Raj institutions.
(D) 2/3 of seats of Panchayati _Raj_
institutions. %

36. Who chooses the representatives of 1@5‘
state in the Rajya Sabha? -

(A) Chicf Minister of the State ¥

\/\_,('B/'Elected members of the 51:
Legislative Assembly

{C) Governor »
(D) President o

37. Which of the foll



(A) 365
(B) 366
(C) 367

JBT 368

39. Who can extend the jurisdiction of a
High Court?
(A) Il‘le Parliament of India
BT The President of India
'7{ (C) The Supreme Court of India /’Q
(D) The Governor of the State X

44. Fill in the blank:

40, “U chability” is abolished and its gl =8
40. “Untouchability” 1s : The Constitutional posit

practice in any form is forbidden under which RELRE

Article of the Constitution of India? of India is mn’rparahl.e to —
(A) The US President

w27 Article 17 A) Jue U
J{I Article 18 ) The British
e " (C) The French Pres

(C) Article 20 i
(D) Article 21 (D) The Russian

41. Which Amendment Act made Sikkim a
full-fledged state of India?

(A) 34th Constitutional Amendment Act

(B) 35th Constitutional Amendment Act

/" € 36th Constitutional Amendment Act

(D) 37th Constitutional Amendment Act




47, Choose the case in which the Supreme
Court by a majority ruled that Parliament could
amend any part of the Constitution of India, but it
could not alter or destroy “The basic structure’ of
the Constitution.

(A) Minerva Mills Case, 1980

(B) Golaknath Case, 1967

Keshavananda Bharati Case, 1973

(D) A. K. Gopalan Case, 1930

"

48. What is the name of the motion to draw the
attention of the Lok Sabha to a recent matter of
urgent public importance? If admitted it leads to
setting aside the normal business of the House for
discussing a definite matter of urgent public
importance.

(A) Privilege Motion X

(B) No Confidence Motion X
€7 Calling Attention Motion
‘_L_D) Adjournment Motion X

49, Choose the number of representatives of
the Rajya Sabha from the States and the Union

Territories:
o 238
(B) 212
(C) 200
(D) 250

5(), Choose the correct answer:
{A) The Constituent Assembly of India
took about one year to complete its

work. %
{B) The Constituent Assembly of India
took about two years o complete its
JETH The Constituent Assembly of Indm
""" {ook about three years to complete its

Under which Article
Constitation the Supreme Cot
jurisdiction to deal with any dispute
Centre and the State, the Centre and a St
one side and another State on the other o

WO OF TOTE STALEs .eewe:?

\ﬂﬁ Article 131 s»—
(B) Article 132
(C) Article 133
(D) Anticle 134

v

52. Which Article of the Constitution of India
say that there shall be a President of India?
(A) Art 6l
{B) Art62
(C) Art 74

AP Art 52

~1
o

53. Choose the correct alternative : !
The President of India is elected by the
electoral college. The electoral college consists
of —
(a) the elected members of both
Houses of Parliament, and b
(b) the elected members of the _
Legislative Assemblies of th

States.

(B} (a) allthe members of both the Hou

(b all the members of the Leg
Assemblies of the States

~ Sabha,




(B)

(C)

(D)

disadvantaged parties and was
introduced by Justice P. N. Bhagwati
and Justice Krishna Ayer. It is an extra
Judicious remedy and a part of judicial
activism to enforce public interest and
a vehicle to enforce rights.

Only Supreme Court in India can
entertain Public Interest Litigation
(PIL).

Public Interest Litigation (PIL) is
enshrined in the Constitution of India.

Public Interest Litigation (PIL ) in India
has not helped deal with major
environmental grievances and has not
helped victims who are handicapped
by poverty, illiteracy, ignorance who
have not benefitted by the
implementation of the laws enacted
by the legislature for the benefits of
the have nots.

55. When can the Parliament in India make a

law on a matter enumerated in the “State list*?
{(A) When a joint sitting of Parliament

o

(B) When the Lok Sabha by a 2/3rds

passes a resolution to that effect.

majority of members present and
voling passes a resolution saying that
it is necessary or expedient in the
national interest,

(C) When both the Lok Sabha and the.

Sabha separately passes &

P ) 42nd Amendment Act.

was inspired by the Preamble o
which country?
U.S. Constitution Tagl
g (B) Swiss Constitution
.~ (C) British Constitution
(D) Constitution of Canada

58. Fill in the blank: :
The office of the President of India can fa
Yacanmt o
(A) in case of death of a President :
(B} if a President resigns from his post e

(C) on the commencement _ :';

/ impeachment in the Lok Sabha
) Only (A) and (B) b o

© 59. The Fundamental Duties were incor|
Amendment Act?
(A) 41st Amendment Act.

N (©) 43 Amendment Act.

L, e
i E e T e

(D) 44th Amendment Act.




e
&) 552

62. Choose the correct statement with respect
i to “Right against exploitation” under the Indian
Constitution.
P! (A) Freedomtopay taxes forthe promotion
of any particular religion.
/ 4 Prohibition of traffic in human beings
and forced labour,
(C) Protection of minority schools. *
(D) Compulsory military service. s

63. Who is known as the Father of the Lok
Sabha?
G. V. Mavalankar
{B) Rabi Ray
(C) Balram Jakhar
(D) P. A. Sangma

64. Beti Bachao Beti Padhao (BBBP) Yojana
or in other words, ‘Save the Girl Child" has been
launched to generate awareness and improve the
efficiency of welfare services intended for girls in
India.

The prime concerns of BBBP are
(A) prevention of gender based sex
selective elimination.  +7

(B) ensuring survival and protection of

the girl child. S
(C) ensuring education and participation
of the girl child. ~~

1,,.»" ©

67. How man members are nomina
President of Indji 1o the Rﬂi?ﬂ"ﬁabﬁﬂ :
(A) 20
(B) 18
(C) 15

) 12

68. How many Fundamental Duties are nch
in the Indian Constitution?

w

69. During the Proclamation of
term of Lok Sabha may be exte
a period not exceeding '

ywm
__/ 1 1 year
(C) 1.5 years

(D) depends «

z =il g ey |
&P - 19} i
& 1T 2
B e 1 1L
- Pl s
4 o
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the Consolidated Fund of India is not
votable in either House of Parliament.

(C) The expenditure that is charged upon

the Consolidated Fund of India is )

votable in either House of Parliament.,

(D) The Rajya Sabha alone may vote on
expenditure charged upon the
Consolidated Fund of India.

72. Which of the following are Fundamental
Duties of an Indian Citizen?
(A) Safeguarding public property.
(B) To abide by the Constitution and
respect its ideals and institutions, the
National Flag and the National

-4

{C) Tocherishand follow the noble 1dean
which inspired our national struggle
for freedom.

MII the above

73, The Directive Principles of State Policy
(Art. 36 to Art. 5 1) is included in which part of the

Indian Constitution?

(A) Part Il

BT Part IV

(C) PartV
{B)Pm‘t?l

e T oy L
: .
S O 5
s il
Hihﬁh. !

Anthem. ==

76. Which one of
Indmn Canshtutim

?( (C) Right against E3
877 Right to Const

77. Which of the following
true?
(A} The Supreme Court i
highest court in appeals.
| 5 The power of Jndleil
/ mentioned in the tutic

(C) All doubts arising o
connection w1fh




._/ (C)AFour times each year. £ Wl High Court
) Twice aywwimmmﬁ'mansix (D) Supre 1e Court
months between sessions. _ = b,
85. Asperthe Consﬁmwﬂ:@h@E-h
80. The Provision of Declaration of National membcl'ﬁ ues E_-'-Eﬂl?d in the Lok Sabha Ir
Emergency is mentioned in which of the following Union Territories?
(B} Article 356 c) 30
(C) Article 360 > ED:; -
(D) Article 363 ]
%6. A motion of no confidence against
81. Fill in the blank; Government can be introduced in

Impeachment of the President of India can (A) Rajya Sabha
be initiated : (B) Lok Sabha and Rajya Sabha
{A) only in the Lok Sabha V(—@'fqu Sabha

(B) only in the Rajya Sabha 2 ;
”/ ‘1 either House of Parliament (D) Neither (A) nor (C) g

(D) in the Supreme Court &7. The Constitution (Ninety-second
Amendment) Act, 2003, amended the Eig .

82. Which one among the following features of schedule to the Constitution so as to include
the Constitution of India is indicative of the fact Dogri, Maithili and Santhali languages, th
that the real executive power is vested in the raising the total number of languages listed it
Council of Ministers headed by the Prime Minister schedule to
in India? (A} 20

{A) Universal adult suffrage A {B) 21

/ (B) Federalism =
i;]{REpresemativ: legislature

(7} Parliamentary Democracy 88, Which of the following

.correct?
83. Fill in the blank:

A Bill cannot become an Act of Parliament
India, unless and until ;




'Iha Attm‘ne]r Gmeral of India
©) The Vice-President of India

90. Which Article in the Indian Constitution
states that the state shall not deny to any person
“equality before the law” or the ‘equal protection :::f
the laws’ within the territory of India?

(A) Article 13

) Article 14
(C) Article 15
(D) Article 16

91. Which Article in the Indian Constitution
contains provisions dealing with a Money Bill?
{A) Article 100

BT Article 110

(C) Article 122
(D) Article 125

92. Which Amendment introduced a national
Goods and Services Tax (GST) in India from

July, 20177
(A) 100th Amendment Act
‘/' ‘{E),’ 101st Amendment Act
- (C) 102nd Amendment Act
(D) 103rd Amendment Act

nkad lha-
ﬁmrmnmcnt of Imba rev

prohibition, quu—wanantq L
may be appropriate for
Fundamental Rights?
) Article 32
\/ (B) Article 226
(C) Article 227
(D) Article 33

96. The Chairman of the Public
Committee of Parliament is appointed
. AT Speaker of the Lok Sabha.

(B) Prime Minister of India.
(C) President of India.



years (0 18 ye

‘States from 21

ars in

-

| 100. Which one of the following High Courts
has the Territorial Jurisdiction over Andaman and
Nicobar Islands?
LAy Calcutta High Court
(B) Orissa High Court
(Cy Andhra Pradesh High Court
(D) Madras High Court

101. Land revenue 15
(A) collected by Central Government and

'( distributed among stales.
(B) collected and retained by Central
Government.,
{(C) collected by States and taken by
Central Government.
Ll JO) collected and utilised by State
i Governments.

-

102. Indicate the statement which is not cortect:
The Industrial Policy 1991 witnessed

(A) Abolition of industrial licence for

@,ma_'jaﬁty industries.
(B Upper limit of foreign investoent

reduced. .

Bengal

(A) beneficially

J.B‘f adversely

(C) it was neutral .-
(D) uncertain

, Which item does not usually come under
India’s import basket now-a-days? )
{A) Petroleum
(B) Crude oil

(C) Fertiliser
4} Food grains «~

@ C.R.R. instruments are app!
on

\.;L

KT Scheduled commercial
(B) (A)+ the investment con
(C) Allcommercial banksand

financial companies
(D) All of the above




109. Economic infrastructure r.’fues not include
this item:

(A) Road-rail network
(B) Electricity generation
{C) Telecommunication

Wfﬂgrﬂ!ﬂ[ﬂﬂ for literacy

110. Impact of bank nationalisation did not
include this:
(A) Total deposits increased””

_/ (B) Priority sector loan increased much »~

) Security of depositors’ fund declined vt

(D) Branch expansion took place w”

i 111. Committee on financial reform
recommended

3 'Uff Phase reduction of Statutory Liquidity

- Ratio (SLR)

(B) Gradual increase in SLR b
(C) Making SLR an important credit
control measure

(D) Both (B)and (©) X

Globalisation of the

115. Whichoneof the following ite
in National income? '
(A) Subsidy on rationing X

(B) Scholarship 3 JUN

7 Jer Administrative expenditure
(D) Relief grant >4




{D} ﬁ-.rnnat syatem

119, Deficit financing is strongly inflationary
when
(% Gowt. takes loan from the RBI

(B) Govt. takes loan from the capital
market

(C) Govt. borrows from commercial banks

(D} Govt. mobilises small savings from
the market

A

120. In the pre reform period, monetary, fiscal
and administrative connection for banking ac Hvities
were
\_Qfﬁ"causc.s of low profitability of

commercial banks.

(B} raised profitabilily of banks. M

{C) supported by financial reforms

committees. M

o

(D) raised banking efficiency. b

121. National Rural Employment Guarantee Act
provides employment to,

iA) skilled rural workers.
\/‘I (B) semi skilled rural workers.
‘_(E{ unskilled workers.
(D) Both (A) and (B)

122. Treasury bills are instruments of the Central
En‘ummﬁﬂ to secure
(A) Long term credit
\fm}’ 1mag uam credit

124. Open maﬂ:ctapcmmnﬂ
Mﬂjﬂ direct mcmtmnhﬁi i

'/\Q (C) assist foreign exchange d
(D) {A)and (C) above

125. Taxation on agricultural income in Ir
(A) relatively high.

._L.B’Tfi_nw,
(C) proportionate to its contribu i
() MNone of the above

o

126. Post 1991 reform measures gave &
- R
(A) Import restriction
(B} lmport substitution
JE( Import liberalisation and e por
promotion
(D) Both (A) and (B)

P




S e

) is regressive. X
_,i(ﬁ'is.ﬂm-iﬁﬂaﬁmm- i

(D) brings distributive justice. *

129, ‘Operation Barga’ programme beneficially
affected the following class:

Landlords
(B) Agricultural labourer

&E’f Share croppers
(D) Intermediaries

|
'. @ Point out the incorrect statement
Excise duty is

J,Kj not regressive.
(B) not unpopular.

JHET imposed on exfactory production.
(D) None of the above

131. Indicate the incorrect staterent:
Impact of economic reform was,
{A) unsatisfactory progress of basic capital
goods industries.
\/ (B) neglect of agriculture. *~
% increase in security of warkm B
(D) growth of unemployment.

134. Contributionofag
in India

135. The year of Bank
(A) 1965

< UBT1969

(C) 1971

(D) 1973

136. Public Sector Enterprises
this role after new economic




4D Jobless growth in organised sector.

139. Exclusive power to issue currency notes
lies with

Reserve Bank of India
(B) Central Govt. Ministry of Finance
{C) Central Govt. Ministry of Home
(D) Both (B) and (C)

e

140, Inflation appears when there occurs,
(A) increase in money supply. X
(B) one time increase in price level. X
(C) increase in profit and production. 3
Jﬁ_} continuous increase in price level.

141. Overall responsibility of agricultural credit
and refinance lies on

(A) RBI
s

BT NABARD
(C) Co-operative bank
p (D) Land Development Bank

142. Which statement is correct?
In cooperative farms

holding.

not face joint

memldmulmdmfm alarge |

144, Green revolution and nﬁ:ﬂ“ d
sxmtcg}rﬁrmappearmthc nduction of
(A) paddy.

(B) oil seed.

o M) wheat.

(D) pulses.

145. Which of the fnl]uwing_.imnﬂ"-"
come under National Income

(A) Wages to agricultural lab
kind.

T Vﬂ!ﬂ Receipt from second hand me.

automobile.
(C) Profit of the public sector enterpris
(D) Value of the product kept for

consumption.

146. The year of setting lip of the Reserv
of India is

(A) 1921

7y 1935

() 1947

(D) 1949




(D) 1961

149, Interest rate paid on cash reserves kept by
the banks with RBI is

JAT lower than market lending rate.
(B) higher than market lending rate.
(C) equal to market rate.

(D) no interest paid.

e il

150. Which statement does not apply

In the pre-reform period public sector
enterprises in India witnessed

(A) high inefficiency and subsidy

(B} increased cost of production
€7 high degree of profit

(D} Both (A) and (B)

o

151. Agriculture budget in the plan period was
proportionately high in

\',E':fj First plan
{B) Second plan

X7 Third plan

J_B} Fourth plan

152, Indian agriculture mostly shows this type
of unemployment

(A) Voluntary unemployment
{B) Cyclical unemployment
o ._{E‘ff Disguised unemployment

(D) Frictional unemployment

153. First Industrial Policy came into existence

155- Mﬂ]ﬂfpm rnt-::-;
this field

(A) Organised sector
(C) Public sector
(D} Both (A)and (C)

7

156. The new economic policy took:
toward foreign direct investment _
Encouragement .
\./ﬂ {B} Discouragement -
(C) Neutral e -
(D} No change in previous approval _i %

157. The status of the Bargadars is
Owner cultivator.
W LBT Share cropper.
)( (C) Aericultural labourer. %
(D) Marginal farmer.

158. The Panchayat system was in
this Amendment of the Constitution:
(A) 65th Amendment
(B) 68th Amendmen s
() 72nd Amendment

wa’?BrdAmcmr

S ] H-:-"'_




; 1 A0l of the above.

Privatisation policy under the structural
Storm does not imply this:

(A) Increase in monopoly power in
industrial field.

(B} Decrease in the role of industrial
licensing. »
Increase in the importance of public
sector enterprise.

(D) Both (A) and (B)

162. Most important source of energy in India:
(A) Hydel power
iB) Solar power
" (C) Nuclear power
ﬁ Thermal power

163. Which statement 15 not correct?
Small scale industries in India are
advantageous as

(&) theyhave high employment potential. %
1 highly capital intensive.

{C) use of local skill and material, *

(D) capital used per worker relatively low. w

164, In a well developed bill market
- {A) frequency ofbills changing hands will
be low.
Y frequency of bills changing hands will
G, =

(C) Effective in a few temiStance .__
(D) Uncertain in its ejf@uhm X

\@lndmate the incorrect statement:
Land reform porgramme in India

{A) rent regulation. }*
{B) land ceiling.
/"L &7 tenancy security.

VLB‘]' increasing power of intermediaries

168. RBI practices Repo rate to
_AR) absorb liquidity, X
UL.B’Y increase supply of liquidity.
% (") uncertain impact.
) regulate interest rate.

169, Volume of bill finance mmﬂlndm
market is

(A) relatively high.
BT relatively low. '
(C) medium,
(D) excessive.

170. Which cﬂuo&ptuf
I--|I|:i|| |




" (B) State Gove

B) State Governments
(C) State Governments and Local Self
‘/"’ Governments

\M Central and State Governments

172. During first two decades of planning foreign

exchange position was
(A)_yery satisfactory
) unsatisfactory
+7 (C) moderate

(D) uncertain to state

173. Point out the wrong statement.
Increase in money supply through deficit
financing,

{A) raises production if supply condition

js elastic. ™
\'(B{)it starts multiplier working. S
(C) ithelps toemploy unutilised resources. X
B itis always inflationary. _>*%

174. Contribution of savings as a percentage (o
G.D.P. is the highest in the sector
(A) Public sector
(B) Corporate husiness sector

jn v/ .\’(,Qf Household sector

(D) Industry sector

I . o domestic

. Sectoral distribution as to groSs F
| 1'75_5{6 D P) in India shows the following
Sattem now-a-days:

177. Indicate which one doesnot
‘of huge black income creates _
(A) Inequality in income distril

(B) Fall in the contribution to G

W ol X )
{D} L“Iu]'jl" cumumpﬁm... -. _, !

178. Corporate profit tax is
{A) astate level tax
BT collected and used b;ﬁn
Government '
7 (©) collected by State Government
(D) collected by centre, us y S
Govt.

Finan_cia] < Reforms

recommended "
(A) Administered rate c




S 7 Agricultural Income tax and Land
Revenue
(D) Wealth tax and Capital gains tax

182. Major part of Indian agriculture shows

(A) capitalist agricultural system.
small size farm.

(C) large size farm.

(D) Co operative farm.

A

183. Re-Discounting of bills is a source of
(A) long term credit.
V{BT short term trade credit.
(C) medium term credit.
(D) assistance for Govt. loans taken from
market

184. Inflationary pressure in the domestic market
Mm akes balance of trade unft avourable.

"/ (B) improves balance of trade. 2
(C) does not affect foreign exchange
reserve & foreign trade.

(D) the relationship is uncertain. b ]

185. Percentage of peoplegiving personal income
tax in India is

(A) Central excise duty and Customs duty

) e

Inves

188. Which one of the following do&a :
under Central Government expenditure: ‘
(A) Debt servicing &

(B) Defense expenditure

/ ‘/(,Qf’ Maintenance of law and order
police force 3

(D) Administrative expenses of the Cente
Government

189, Structural Adjustment Programme in India
required
(A) fiscal deficit zero
\/,4 UQB‘Y fiscal deficit very low
(C) fiscal deficit very high
(D) fiscal deficit moderately high |

190. Long-term loan to the corporate sector
usually comes from
‘.HG Commercial banks
(B) NABARD
{C) Lead Banks

B Capital market
191. Literacy rate is the highest among India i
P i g India

(B) West Bengal




(A) three years
(B) four years

five years
¥ (D) six years

195. Find the incorrect statement :
Green revolution made possible

/ m ery low use of chemical fertiliser
(B) Used of HYV seeds
' (C) Increase in the use of agromachinery

i (D) Multiple cropping

196. Devaluation of Indiancurrency in 1991 was
expected to have this effect:

(A) line in exports
/ Increase in exports
(C) Decline in exports and imports

(D) Increase in imports

banks :
V/ (C) Giving lung tﬂﬂm;l
industries

(D) Giving loan m’éﬁ_'_

199. Money supply when defi
of

/(

(A) Commercial bank time d
AB) (A)above and currency
deposit

21 (B) above plus post ¢
deposits:

(D) Includes (B) above :
money X

200. Which one of me
statement?

(A) RBIdnes;rm :




